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Topic: Ratio & Proportional 

Section 1 
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ENGAA Specimen S1 - Question 9

ENGAA Specimen S1 - Question 9 - Worked Solution1𝑄2
𝑃1.42𝑃1.96

 

Answer is C 

  𝑑𝑒𝑐𝑟𝑒𝑎𝑠𝑒49% 𝑎 ~𝑡𝑜 𝑐𝑜𝑟𝑟𝑒𝑠𝑝𝑜𝑛𝑑 𝑖𝑠𝑡ℎ  𝑃51= 0.      =  𝑃′ =  𝑄′ = 1.4𝑄 𝑃 ∝ 
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ENGAA Specimen S1 - Question 11

ENGAA Specimen S1 - Question 11 - Worked Solution 1𝑧3 𝑐𝑧3 𝑐𝑧61𝑦2
  

 

Answer is D 

 ∝3𝑥  = 𝑐𝑜𝑛𝑠𝑡𝑎𝑛𝑡2𝑐3= 𝑘2𝑦3 𝑔𝑖𝑣𝑒𝑠 𝑥𝑒𝑟ℎ𝑜𝑡𝑚𝑢𝑙𝑡𝑖𝑝𝑙𝑦𝑖𝑛𝑔 𝑡ℎ𝑒𝑠𝑒 𝑡𝑤𝑜 𝑒𝑞𝑢𝑎𝑡𝑖𝑜𝑛𝑠 𝑤𝑖𝑡ℎ 𝑒𝑎𝑐ℎ  
2=2    𝑠𝑞𝑢𝑎𝑟𝑖𝑛𝑔 𝑡ℎ𝑒 𝑠𝑒𝑐𝑜𝑛𝑑 𝑒𝑞𝑢𝑎𝑡𝑖𝑜𝑛: 𝑦6𝑧3= 𝑘3 𝑒𝑞𝑢𝑎𝑡𝑖𝑜𝑛: 𝑥𝑠𝑡𝑐𝑢𝑏𝑖𝑛𝑔 𝑡ℎ𝑒 1  , 𝑦 =2  𝑥 = 𝑘𝑧𝑎𝑠 𝑟𝑒𝑤𝑟𝑖𝑡𝑡𝑒𝑛 𝑏𝑒 𝑐𝑎𝑛ℎ 𝑖𝑐 𝑤ℎ  , 𝑦 ∝2𝑥 ∝ 𝑧 

 

 

 

   

 

http://www.oxbridgemind.co.uk/


ENGAA S1 2018 - Question 9

ENGAA S1 2018 - Question 9 - Worked Solution 

𝑉𝑅𝑉 6412512564
  

Answer is E. 

 3𝑐𝑚625      =  320×=𝐿𝑉  =𝐿
 

3
As volume scales as length

 = 64 : 125 
3

 : 5
3

If the ratio of the lengths (height and radius) is 4 : 5, then ratio of volumes is 4
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ENGAA S1 2018 - Question 13

ENGAA S1 2018 - Question 13 - Worked Solution 

𝑉𝑚𝑉 140312𝜋403
37523752 43

  

Answer is E. 

 𝜋𝑔 250     =  𝜋 ×     =  𝜌𝑣𝑚 =  3𝑐𝑚𝜋        =  3𝑐𝑚 𝜋3100×−410×875       = 1.  3𝜋 𝑚−410×875      = 1.  3 𝑚=𝑚𝑉  =𝑓
 𝑎𝑠  340 𝑣𝑜𝑙𝑢𝑚𝑒𝑠 = 1:𝑜𝑓𝑅𝑎𝑡𝑖𝑜  40 𝑙𝑒𝑛𝑔𝑡ℎ𝑠 = 1:𝑜𝑓𝑅𝑎𝑡𝑖𝑜  
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ENGAA S1 2018 - Question 17

ENGAA S1 2018 - Question 17 - Worked Solution 

1351002720
  

Answer is C. 

     =       =  35𝑚 = 1.  𝑝35        = 1.  𝑝 × 0.625          = 2.  )1 − 0.4(𝑝 ×25② 𝑞 = 2.  𝑝25𝑝 = 2.)251 + 1.(① 𝑁𝑒𝑤 𝑝𝑟𝑖𝑐𝑒 = 
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ENGAA S1 2016 - Question 5 

ENGAA S1 2016 - Question 5 - Worked Solution 

3105252 310152034
  

Answer is C 

 𝑄 ∶ 𝑆 = 3 ∶ 4 𝑆𝑄 =  𝑆𝑄 =  𝑆×𝑄 =  𝑅𝑄 =  𝑆𝑅 =  10𝑅 ∶ 5 = 3 ∶  𝑄 ∶ 𝑅 = 5 ∶ 2 
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ENGAA S1 2016 - Question 23 

ENGAA S1 2016 - Question 23 - Worked Solution 

𝑠𝑤𝑖𝑚𝑚𝑖𝑛𝑔𝑏𝑜𝑦 3274 1637
 

Answer is D 

 )==𝑃 (  choose swimming  𝑏𝑜𝑦𝑠32=25−57 𝑔𝑖𝑟𝑙𝑠 𝑐ℎ𝑜𝑜𝑠𝑒 𝑠𝑤𝑖𝑚𝑖𝑛𝑔 ∴25     𝑐ℎ𝑜𝑜𝑠𝑒 𝑠𝑤𝑖𝑚𝑖𝑛𝑔57=27−36−120∴36 choose tennis and 27 choose archery 

  𝑏𝑜𝑦𝑠74 𝑔𝑖𝑟𝑙𝑠      ∴46120 students 

 

 

 

   

 

http://www.oxbridgemind.co.uk/

